Q@ T 0.75 =
s 1 .
Q. - -
> 0.7 -
L [ ]
L I S S S S S 0.65
E :
© -
0 ; 6_ 0.6 .
Tt 0.55 —
1 0.5
O s R === = = —— g ]
= 0.45 3 .
B ITI!L 0.4 7 LD
— ]
02'__ """"""""""""""""""""""""""""""""""""""""""" ' E .|!AA‘
i 0359 " «= ="
- : . : 7 AA:
o 0_|| [ETETETE AT E AT AR ||||||||||||||| 0_3_A|||.A|l|||A||||||||||||||||||||
5 i i llllllll,,;,, 1 2 3 4 5 6 7
x [ —=— _/./CMSSW_12 4 0_pre3/src/DQM_V0001_R000000001__Global__mkFit_batchCAND-adjus
09:_ —e— ../.ICMSSW_12_4_0_pre3/src/DQM_V0001_R000000001__Global__mkFit_CAND
i —— DQM_ VOOOl ROOOOOOOOl Global__mkFit_CAND-AFTERCONFLICT2
[ | | | | | T .
0.8 ;

T SR R

Efficiency vs. cut on dz(PV)
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